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Answer the following questions:

{I} The pKa values for phosphoric acid are 2.2, 7.2 and 12.3. (6%}

a)
L)
)

(2)  What iz the peculiar structurai feature of elastin that pives it its elastic
properties? (4%)

{3}  Explain how the amownt of enerpy required {0 franspoet a solwle o g cell can
L caleulatad, Assmming that the concentration of a selute owtside and that inside to be
m the mbo of 104, caleulate the energy required to transport 1 med into the cell. (4%)
{4} &) Which and why digestive enzymes ave praduced m an waclive 2ymogen
By Why do you tink amylase is not produced as an inactive Zvmogen? (49%)
{3} &) What rénelion do the bwo enzyines glucokinase and hosokinass

¥y Wy should the liver have glucokinase while bratm and other tizsucs have hexokpnase?

(&) It 15 stated that the vicld of ATE from the eminpicte exidation of 8 molecule of
Ebocoss m &, coff 13 greater than in sekaryote oolls, cxplain why? (4%0)

(71 Explain Bow a monounsatursted fat { A7) is broken down to acetyl-CoA7 (49%4)

(B} a) What are eicosanoids? (2%}
) What are thay mmade IromT (2%
z) Bricfly desorbe their physiologtcal sipnificance. (3%}
el Wt 15 the refevance of aspirin in this area of imetabobizim? (2%6)

(3]

Docs mmscle have the enzyme plucose-G-phosphatase? Explain your answer? (4%)

ﬁﬁiiﬁjgiﬁ-ﬁ-—'llmaﬁ% TR {U“‘éﬁ _A

Write down the predomingmd ioaic forms at pH O, pH 4, pH & and pid 14

What wauld be the pH of an cquimelar mixtore of Mal, POy and Ma,HPOLT
Suppose that vou wanted a buffor fairly close to physiolomical pH and all you hadd
available were the 20 amine acids fonnds o proteing; which one would be the moat
suitalle?

forrn? (€%,

caralyze” (4%} o

(4%)

G 4 AR SR 4R )
' 200901 ~7



BZAD RS . T
TR § m g Ak AE R m oA we GG g

(15}

(it}

(12)

(13}

{44

(15)

(1
{7

ad Deseribe the twa models thal cxplait homotropic cooperative binding of
sulrsirate g an enzyime. (5%
b} What iz the main featues of alloseeric control that makes it such tremendonsly

Linpariant concept” (35)

Iature red blaad cells have no need for nuelsotids or fat synthesis. Why
do then they have gliogose-G-phosphate delyydrogenase? (%)

Why shonld the level of weea cycle engymes be increased bath in the
zituation of a ligh imtake of amino acids and in starvalion? (3%)

a) What i5 supesoxide? {3%)
b %What mechanisms cxist for gug=ding against the deleteriows effeols of superoxider
(d%a)

a) RIMA almost ceclainly evolved before DNA, Why do you think DA,
evoived? {29

by What iz & nucleosoine? (3%%)

¢} What are Aln sequences? (3%)

a) What is telomerazse? {4%)
b} Explain kow the DMA shottening problem in replication is coped with
telomerase. [4%)

Whal ave 1he families of transeriptional (actors in terms of siructurai motifs? (%)

) Explain the role of chaperones in protein synthesis.{4%4)
b) What is the prion discascs and the eelationship between fhese diseases amd

pratein flding? (4%%)




